

Integración 4to año- Números racionales

Unir con flechas cada ejercicio con su solución

$$\left(-3 \cdot 0,0\hat{3} + \frac{3}{2}\right) : \left(1 - 0,8 \cdot \sqrt{0,25}\right)$$

$$\frac{35}{11}$$

$$1,2\hat{4}$$

$$\frac{91}{12}$$

$$\frac{0,\hat{6}-0,\hat{1}}{0,0\hat{5}} - \frac{1,\hat{1}-0,\hat{8}}{\sqrt{1,\hat{7}}}$$

$$\frac{56}{45}$$

$$\left(\sqrt{\frac{36}{25}} + \frac{3}{10}\right) \cdot 3 + \left(\frac{6}{5}\right)^{-1} + \left(\frac{3}{2}\right)^2$$

$$\frac{203}{90}$$

$$2,2\hat{5}$$

$$\frac{1}{6}$$

$$\frac{0,1\hat{9} + 0,\hat{8} - 1}{0,7\hat{9}} + \frac{\sqrt{\sqrt{\frac{1}{16}}}}{(-3)^2} =$$

$$\frac{59}{6}$$